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ENGLISH REPORTER AND TAMIL REPORTER IN TAMIL NADU LEGISLATIVE 
ASSEMBLY SECRETARIAT SERVICE 

 
1. Assertion (A): B.R Ambedkar launched Mahad Satyagraha 

Reason (R):  He wanted to Unite Hindus and Muslims 
a. (A) is correct (R) explains (A) 
b. (A) is correct (R) does not explain 
c. (A) is correct (R) is wrong 
d. (A) is wrong (R) is correct 
e. Answer not known 
$w;W (A): gp.Mh;. mk;Ngj;fh; k`j; rj;jpahfpufj;ijj; njhlq;fpdhh;. 
fhuzk; (R): ,th; ,e;Jf;fs; kw;Wk; K];yPk;fis xUq;fpizf;f Kad;whh;. 
a. (A) $w;W rhp (R) fhuzk; $w;iw tpsf;FfpwJ. 
b. (A) $w;W rhp (R) fhuzk; $w;iw tpsf;ftpy;iy 
c. (A) $w;W rhp (R) fhuzk; jtW 
d. (A) $w;W jtW (R) fhuzk; rhp 
e. tpil njhpatpy;iy 
 

2. Aurobindo Ghosh was defended in the Alipore Bomb case by 
a. C.R. Das   b. Motilal Nehru  c. Bhula Bhai Desai 
d. Bipin Chandra Pal e. Answer not known 
mypG+h; Fz;L ntbg;G tof;fpy; mutpe;j Nfh~;f;fhf tof;if thjhbath;  
a. C.R. jh];   b. Nkhjpyhy; NeU  c. Gyhgha; Njrha; 
d. gpgpd; re;jpu ghy;  e. tpil njhpatpy;iy 
 

3. The famous quote “Long years ago we made a tryst with destiny” was given by 
a. Dr. B.R. Ambedkar b. PK. Jawaharlal Nehru c. Mahatma Gandhi 
d. Abul Kalam Azad e. Answer not known 
Gfo; ngw;w Nkw;nfhs;s “ePz;l Mz;LfSf;F Kd;G ehq;fs; tpjpAld; Kaw;rp 
nra;Njhk;” ahuhy; toq;fg;gl;lJ? 
a. lhf;lh; gp.Mh;. mk;Ngj;fhh;   b. [t`h;yhy; NeU 
c. kfhj;kh fhe;jp     d. mGy; fyhk; Mrhj; 
e. tpil njhpatpy;iy 
 

4. What is the land ceiling limit under the Madras Land Reforms Act of 1961? 
a. 30 Standard acres  b. 50 Standard acres  c. 40 standard acres 
d. 55 standard acres  e. Answer not known 
fp.gp. 1961-k; Mz;L nkl;uh]; epyr; rPh;jpUj;jr; rl;lj;jpd; fPo;> epy cr;rtuk;G vd;d? 
a. 30 epiyahd Vf;fh; b. 50 epiyahd Vf;fh; c. 40 epiyahd Vf;fh; 
d. 55 epiyahd Vf;fh; e. tpil njhpatpy;iy 
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5. 1. The Civil rebellions began as British rule was established in Bengal and Bihar and 
they occurred in area after area as it was incorporated into colonial rule. 
2. There were more than forty major rebellions apart from hundreds of minor one. 
Which of the above statement/s is/are true? 
a. 1 only   b. 2 only   c. Both 1 and 2 
d. None of the above e. Answer not known 
1. tq;fhsk; kw;Wk; gPfhhpy; gphpl;b~; Ml;rp epWtg;gl;ljhy; cs;ehl;Lf; fpsh;r;rpfs; 
njhlq;fpd. NkYk; mit fhydpj;Jt Ml;rpapy; xd;wd;gpd; xd;whf ,izf;fg;gl;ljhy; 
mit epfo;e;jd. 
2. E}w;Wf;fzf;fhd rpwpa fpsh;r;rpfisj; jtpu ehw;gJf;Fk; Nkw;gl;l nghpa fpsh;r;rpfs; 
ele;jd. 
NkNy fhzg;gLk; $w;Wfspy; rhpahdJ/it vJ/vit? 

a. 1 kl;Lk;    b. 2 kl;Lk;   c. 1 kw;Wk; 2 Mfpad 

d. Nkw;fz;l vitAkpy;iy e. tpil njhpatpy;iy 
 

6. Name the British Prime Minister who announced the Communal Award on 17th August 
1932? 
a. Ramsay Mcdonald  b. Lloyd George  c. Stanley Baldwin 
d. A.V. Alexander   e. Answer not known 
1932 Mk; Mz;L Mf];L khjk; 17 Mk; ehs; tFg;Gthj nfhilia mwptpj;j gphpl;b~; 
gpujk ke;jphp ahh; vd;gijf; Fwpg;gplTk;. 
a. uhk;Nr nkf;nlhdhy;l;  b. yha;l; [hh;[;  c. ];lhd;yp ghy;Ltpd; 
d. A.V. mnyf;]hz;lh;  e. tpil njhpatpy;iy 
 

7. Match List I with List II and select the correct answer using the codes given below: 
List I    List II 

 A. Vinoba Bhave   1. Police Action 
 B. Nethaji    2. Noakhali 
 C. Nizam of Hyderabad  3. Satyagrahi 
 D. Gandhiji    4. Azad Hind Fauj 
  A B C D 

a. 3 4 1 2 
b. 1 4 3 2 
c. 4 3 2 1 
d. 2 1 4 3 
e. Answer not known 
gpd;tUk; gl;bay; I-I gl;bay; II cld; nghUj;jp rhpahd tpiliaj; Njh;T nra;f. 
gl;bay; I   gl;bay; II 
A. tpNdhgh ghNt  1. Nghyp]; eltbf;if 
B. Nejh[p   2. ehtfhsp 
C. Ijuhghj; ep]hk;  3. rj;jpahfpufp 
D. fhe;jp[p   4. Mrhj; ,e;J gh[; 

A B C D 
a. 3 4 1 2 
b. 1 4 3 2 
c. 4 3 2 1 
d. 2 1 4 3 
e. tpil njhpatpy;iy 
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8. Who was considered to be the first – social reformer to appear in Modern Tamil Nadu? 
a. Vallalar   b. Vaigunda Swamigal  c. Periyar 
d. Ayothi Dasar  e. Answer not known 
etPd jkpofj;jpy; Njhd;wpa Kjy; r%f rPh;jpUj;jthjpahff; fUjg;gLgth; ahh;? 
a. ts;syhh;   b. itFz;lRthkpfs;  c. ngupahh; 
d. mNahj;jp jhrh;  e. tpil njhpatpy;iy 
 

9. Which among the following were the causes for the out break of Vellore Mutiny in 
1806? 
a. Use of animal fat greezed bullet, poor salary, New turban, caste marks and earrings 

clean shaving. 
b. No Promotion, Heavy Punishments, Poor Salary, New Turban, Clean Shaving. 
c. Use of animal fat greezed bullet, No Promotion, New Turban, Poor Salary, Clean 

Shaving. 
d. No Promotion, Poor salary, New Turban, Castemarks and Earrings, Clean 

Shaving 
e. Answer not known 
gpd;tUtdtw;Ws; vit> 1806-Mk; Mz;L eilngw;w NtY}h; rpg;gha; fyfj;jpw;fhd 
fhuzq;fs; MFk;? 
a. kpUfq;fspd; nfhOg;G G+rg;gl;l Njhl;lhf;fs;> Fiwthd rk;gsk;> Gjpa tif 

jiyg;ghif> rhjpf;FwpaPLfs; kw;Wk; fhjzpfs;> Rj;jkhf jhilia kopj;jy;. 
b. gjtp cah;tpd;ik> fbdkhf jz;lid> Fiwthd rk;gsk;> Gjpatif jiyg;ghif> 

Rj;jkhf jhilia kopj;jy; 
c. kpUfq;fspd; nfhOg;G G+rg;gl;l Njhl;lhf;fs;> gjtp cah;tpd;ik> Gjpa tif 

jiyg;ghif> Fiwthd rk;gsk;> Rj;jkhf jhilia kopj;jy; 
d. gjtp cah;tpd;ik> Fiwthd rk;gsk;> Gjpa tif jiyg;ghif> rhjpf;FwpaPLfs; 

kw;Wk; fhjzpfs;> Rj;jkhf jhilia kopj;jy; 
e. tpil njhpatpy;iy 

 
10. The name of the script used in the Sangam Age was 

a. Kharusthi   b. Devanagiri   c. Tamil – Brahmi 
d. Grantha   e. Answer not known 
rq;f fhyj;jpy; gad;gLj;jg;gl;l vOj;J tbtj;jpd; ngah; ahJ? 
a. fNuh~;jp   b. Njtehfhp    c. jkpo;g; - gpuhkp 
d. fpue;jk;   e. tpil njhpatpy;iy 
 

11. Thirukural is one of the great poetry of our literature. It answers all questions relating 
to life ethics, social, political, economics and education etc. If we give a proper 
interpretation. It is so popular that it has been translated into many languages in and 
around world. 
Which of the following is best implied in the passage? 
a. Thirukural is a collection of answers to all questions 
b. Thirukural is a religious book 
c. Thirukural is a prose 
d. Thirukural is a compendium of knowledge 
e. Answer not known 
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jpUf;Fws; ek; ,yf;fpaq;fspy; jiyrpwe;j xd;W> tho;f;if newpKiwfs;> r%fk;> 
murpay;> nghUshjhuk; kw;Wk; fy;tp Nghd;w midj;J tpdhf;fSf;Fk; tpil 
mspf;fpwJ. kpfTk; gpugykhd jpUf;Fws; gy nkhopfspy; cyfstpy; nkhop 
ngah;f;fg;gl;Ls;sJ. 
gpd;tUtdtw;wpy; vJ rpwg;ghf gj;jpapy; Fwpg;gplg;gl;Ls;sJ. 
a. midj;J tpdhf;fSf;Fkhd gjpy;fspd; njhFg;ghfj; jpUf;Fws; cs;sJ 
b. jpUf;Fws; xU rkaE}y; 
c. jpUf;Fws; Xh; ciueil 
d. jpUf;Fws; Xh; mwpTrhh;e;j njhFg;G 
e. tpil njhpatpy;iy 
 

12. Which among the following Political Party introduced co-education system at primary 
level in Tamil Nadu? 
a. Dravida Munnetra Kazhagam   
b. All India Anna Dravida Munnetra Kazhagam 
c. Dravida Kazhagam 
d. Justice Party 
e. Answer not known 
gpd;tUtdtw;Ws; ve;j murpay; fl;rp jkpofj;jpy; Muk;gf; fy;tpapy; ,Ughyh; fy;tp 
Kiwia mwpKfg;gLj;jpaJ? 
a. jpuhtpl Kd;Ndw;w fofk; b. midj;jpe;jpa mz;zh jpuhtpl Kd;Ndw;w fofk; 
d. jpuhtpl fofk;   d. ePjpf; fl;rp  e. tpil njhpatpy;iy 
 

13. The Erode plan of E.V. Ramasamy consist of the following: 
1. Extension of Life Insurance for all 
2. Free education for all 
3. Abolition of untouchability 
4. Nationalisation of essential Industrial Factor 
a. 1 only   b. 2 only   c. 1, 2 only 
d. 1, 2, 3, 4   e. Answer not known 
<.Nt.uhkrhkpapd; <Nuhl;L jpl;lk; fPo;fz;litfspy; vij nfhz;bUe;jJ? 
1. midtUf;Fk; MAs; fhg;gPl;L jpl;lj;ij tphpTgLj;Jjy; 
2. midtUf;Fk; fl;lha ,ytrf; fy;tp mspj;jy; 
3. jPz;lhik xopg;G 
4. mj;jpahtrpa njhopy;fis ehl;Llik Mf;Fjy; 
a. 1 kl;Lk;   b. 2 kl;Lk;   c. 1> 2 kl;Lk; 
d. 1> 2> 3> 4   e. tpil njhpatpy;iy 
 

14. Who published ‘Kudi Arasu’? 
a. Periyar   b. Anna   c. Singaravelar 
d. E.V.K. Sambath  e. Answer not known 
‘FbauR’ ehspjio ntspapl;lth; ahh;? 
a. nghpahh;   b. mz;zh   c. rpq;fhuNtyh; 
d. E.V.K. rk;gj;  e. tpil njhpatpy;iy 
 

15. “Irunthamizhile̅ Unn̅al irunth̅en imay̅or 

Virunthamizhtham Yendra̅lum V̅ende̅̅ ̅n!” 
O! Everthing Tamil! 
I am living by you. If the Heavely 
Elixir comes to me, I will not like if’ 
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Which Dhoothu book contains these verbes? 
a. Ka̅akkai Vidu Thoothu  b. Tamil Vidu Thoothu c. Nenju Vidu Thoothu 
d. Megavidu Thoothu  e. Answer not known 
“,Ue;jkpNo cd;dhy; ,Ue;Njd; ,ikNahh; 
tpUe;jkpo; jk; vd;whYk; Ntz;Nld;” 
vd;w ghly; thpfs; ,lk;ngWk; J}J E}y; vJ? 
a. fhf;if tpL J}J  b. jkpo; tpL J}J  c. neQ;R tpL J}J 

 d. Nkf tpL J}J  e. tpil njhpatpy;iy  
 

16. From where did Manimegalai get the Amudhasurabhi? 
a. Vuvavanam   b. Manipallavatheevu c. Kaviripoompattinam 
d. Vanji Maanagar   e. Answer not known 
kzpNkfiyf;F mKjRugp vd;w ml;ra ghj;jpuk; vq;Nf fpilj;jJ? 
a. cttdk;    b. kzp gy;ytj;jPT  c. fhtphpg;G+k;gl;bdk; 
d. tQ;rp khefh;   e. tpil njhpatpy;iy 
 

17. “Poomadanthai Vazhap Puvimadanthai Veetriruka 
Namadanthai Nool Vaakkum Nal” 
For whom does Vaanidasan mourn in these lines? 
a. Kambar    b. Kannadasan  c. Annadurai 
d. Kalaignar M. Karunanithi e. Answer not known 
“G+ kle;ij thog; Gtpkle;ij tPw;wpUf;f 
ehkle;ij E}y; thf;Fk; ehs;” vd;W 
thzpjhrd; ahh; ,we;jij vz;zpg; ghbAs;shh;? 
a. fk;gh;    b. fz;zjhrd;  c. mz;zhJiu 
d. fiyQh;. K. fUzhepjp  e. tpil njhpatpy;iy 
 

18. Who was awarded the Shakithya Academy award for the Book “Puthiya 
Dharisanangal’? 
a. Prapanjan    b. Ashoka Mithran  c. Rajam Krishnan 
d. Ponneelan    e. Answer not known 
“Gjpa jhprdq;fs;” vd;w E}Yf;F rhfpj;jpa mfhnlkp tpUJ ngw;wth; ahh;? 
a. gpugQ;rd;    b. mNrhfkpj;jpud;  c. ,uh[k;fpUzd; 
d. nghd;dPyd;   e. tpil njhpatpy;iy 
 

19. Which great work preceding Thirukkural praises the needs of water as “Neerindri 
Amaiyadhu Ulagu”? 
a. Paripaadal   b. Nattrinai   c. Kuruntogai 
d. Tolkaapiyam  e. Answer not known 
“ePhpd;wp mikahJ cyF” vd;W jpUf;FwSf;F Kd;Ng $wpa E}y; vJ? 
a. ghpghly;   b. ew;wpiz   c. Fwe;njhif 
d. njhy;fhg;gpak;  e. tpil njhpatpy;iy 
 

20. Madurai Kaanji Talks about people of which ecosystem? 
a. Kurinji   b. Mullai   c. Marutham 
d. Neithal   e. Answer not known 
kJiuf; fhQ;rp ve;j epy kf;fspd; tho;tpaiyf; $WfpwJ? 
a. FwpQ;rp   b. Ky;iy   c. kUjk; 
d. nea;jy;   e. tpil njhpatpy;iy 
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21. In which place the poetries of Sangam Literature have been categorized by Sangam 
poets? 
a. Madurai   b. Trichy   c. Karur 
d. Poompuharpattinam e. Answer not known 
rq;fg;Gyth;fs; jq;fs; ftpijfis vq;Nf tifg;gLj;jpdh;? 
a. kJiu   b. jpUr;rp   c. f&h; 
d. G+k;Gfhh;gl;bdk;  e. tpil njhpatpy;iy 
 

22. From which text are these likes taken 
“Pulam mikkavarai pulamai therithal 
Pulam mikkavarkke pulanam”? 
a. Naladiyar   b. Naanmanikadigai  c. Thirukkural 
d. Palamozhi   e. Answer not known 
“Gyk; kpf;ftiug; Gyik njhpjy; 
Gyk; kpf;fth;f;Nf Gydhk;” vd;w 
Mbfs; ,lk;ngw;Ws;s E}y; vJ? 
a. ehybahh;   b. ehd;kzpf;fbif  c. jpUf;Fws; 
d. gonkhop   e. tpil njhpatpy;iy 
 

23. The  MGNREGA was first launched in the year 
a. 2005 b. 2006 c. 2008  d. 2009 e. Answer not known 
kfhj;kh fhe;jp Njrpa Cuf Ntiy cWjp rl;lk; (MGNREGA) Kjy; Kjypy; 
njhlq;fg;gl;l Mz;L 
a. 2005 b. 2006 c. 2008  d. 2009 e. tpil njhpatpy;iy 
 

24. Tamil Nadu Integrated Nutrition Programme was introduced by 
a. Dr. M. Karunanidhi  b. Dr. M.G. Ramachandran c. Dr. J. Jeyalalitha 
d. Mr. C.N. Annadurai  e. Answer not known 
jkpo;ehl;by; xUq;fpize;j Cl;lr;rj;J jpl;lkhdJ ____ mth;fshy; 
mwpKfg;gLj;jg;gl;lJ. 
a. Dr. K.fUzhepjp   b. Dr. M.G. uhkr;re;jpud; c. Dr. n[. n[ayypjh 
d. jpU. C.N. mz;zhJiu  e. tpil njhpatpy;iy 
 

25. Which city is known as Knitting City in Tamil Nadu? 
a. Coimbatore  b. Erode   c. Tiruppur 

d. Sivakasi   e. Answer not known 
jkpo;ehl;by; ‘gpd;dyhil efuk;’ vd;W miof;fg;gLtJ vJ? 
a. Nfhak;Gj;J}h;  b. <NuhL   c. jpUg;G+h; 
d. rptfhrp   e. tpil njhpatpy;iy 
 

26. Why Coimbatore is called as Manchester of South India? 
a. Due to more number of Electric Motors are produced 
b. Due to the functioning of More Textile Mills 
c. Due to the functioning of more number of Educational Institutions 
d. Due to the functioning of more jewellery manufacturing units 
e. Answer not known 
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Nfhak;Gj;J}h;> njd; ,e;jpahtpd; khd;nr];lh; vd;W miof;fg;gLtjd; fhuzk; vd;d? 
a. mjpf vz;zpf;ifapyhd kpd; Nkhl;lhh;fs; cw;gj;jp nra;ag;gLtjhy; 
b. mjpf vz;zpf;ifapyhd Jzp Miyfs; nray;gLtjhy; 
c. mjpf fy;tp epWtdq;fs; cs;sjhy; 
d. mjpf mstpyhd eif cw;gj;jp epWtdq;fs; cs;sjhy; 
e. tpil njhpatpy;iy 

 
27. Which Chennai is called as “Detroit of Asia”? 

a. Due to the presence of Textile Industry 
b. Due to the presence of Automobile Industry 
c. Due to the presence of Leather Industry 
d. Due to the presence of Film Industry 
e. Answer not known 
“Mrpahtpd; nll;uha;l;” vd;W nrd;id Vd; miof;fg;gLfpwJ? 
a. [Tspj; njhopyhy;    b. Nkhl;lhh; thfdj; njhopyhy; 
c. Njhy; njhopyhy;     d. jpiug;glj; njhopyhy; 
e. tpil njhpatpy;iy 

 
28. As per 2011 Census the density of population in Tamil Nadu was 

a. 384 per sq.kilo meter    b. 425 per sq.kilo meter 
c. 555 per sq.kilo meter    d. 561 per sq.kilo meter 
e. Answer not known 
2011 kf;fs;njhif fzf;nfLg;gpd; gb jkpo;ehl;by; kf;fs;njhif mlh;j;jp  
a. 384 per sq.kilo meter    b. 425 per sq.kilo meter 
c. 555 per sq.kilo meter    d. 561 per sq.kilo meter 
e. tpil njhpatpy;iy 
 

29. The measurement of multi-dimensional poverty index is based on ____. 
a. Health, Education and Living Standard b. Education and Health 
c. Nutrition and Longevity    d. National Income and Rich men 
e. Answer not known 
gd;Kf Vo;ik FwpaPl;il mstpLk; Kiw _____ Mfpatw;iw mbg;gilahff; nfhz;lJ. 
a. Rfhjhuk;> fy;tp kw;Wk; tho;f;ifj; juk; b. fy;tp kw;Wk; Rfhjhuk; 

 c. rj;JzT kw;Wk; ePs;tho;T   d. Njrpa tUkhdk;> gzf;fhuh; 
 e. tpil njhpatpy;iy 

 
30. According to Tamil Nadu Human Development Report (2017) ______ District is ranked 

first position. 
a. Kanyakumari  b. Ariyalur   c. Kancheepuram 
d. Chennai   e. Answer not known 
jkpo;ehL khepy kdpj Nkk;ghl;L mwpf;if 2017,d; gb _____ khtl;lk; Kjy; ,lj;jpy; 
,Uf;fpd;wJ. 
a. fd;dpahFkhp  b. mhpaY}h;   c. fhQ;rpGuk; 
d. nrd;id   e. tpil njhpatpy;iy 
 

31. The Public Grievance Day is conducted in Tamil Nadu. 
a. Every Wednesday b. Every Friday  c. Every Saturday 
d. Every Monday  e. Answer not known 
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jkpo;ehl;by; _____ ehs; nghJ kf;fspd; Fiwfis ePf;Fk; ehs;  
a. xt;nthU Gjd;fpoik    b. xt;nthU nts;spf;fpoik 
c. xt;nthU rdpf;fpoik    d. xt;nthU jpq;fs;fpoik 
e. tpil njhpatpy;iy 
 

32. In present situation _____ are the longest sources of irrigation in Tamil Nadu. 
a. Tanks irrigation   b. Wells irrigation  c. Tube wells irrigation 
d. Canals irrigation   e. Answer not known 
jw;nghOJ cs;s epytug;gb jkpo;ehl;by; ______ ghrdk; mjpf mstpy; cs;sJ. 
a. mizf;fl;Lfs; ghrdk;   b. fpzWfs; ghrdk;   
c. Foha; fpzWfs; ghrdk;   d. fhy;tha;fs; ghrdk; 
e. tpil njhpatpy;iy 
 

33. A dozen bananas cost Rs.20. Then the number of bananas that can be bought for Rs. 100 
is 
a. 5  b. 12  c. 20  d. 60  e. Answer not known 
xU l[d; thiog;goj;jpd; tpiy &.20 vdpy; &.100f;F thq;fg;gLk; thiog;goq;fspd; 
vz;zpf;if 
a. 5  b. 12  c. 20  d. 60  e. tpil njhpatpy;iy 
 

34. Find the difference in compound interest and simple interest for p=Rs. 8,000, r =  5% 
p.a. and n =  3years. 
a. Rs. 61   b. Rs. 661    c. Rs. 1061 
d. Rs. 1261   e. Answer not known 
p = 8>000 &.> Mz;L tl;b tPjk; r = 5%, n = 3 Mz;Lfs; vdpy;> $l;L tl;bf;Fk;> 
jdptl;bf;Fk; ,ilNa cs;s tpj;jpahrj;ij fhz;f. 
a. Rs. 61   b. Rs. 661    c. Rs. 1061 
d. Rs. 1261   e. tpil njhpatpy;iy 
 

35. If A =  265 and B =  264 + 263 + 262 + …. + 20 which of the following is true? 
a. B is larger than A by 1   b. B is 264 more than A 
c. A and B are equal    d. A is larger than B by 1 

e. Answer not known 
A =  265 kw;Wk; B =  264 + 263 + 262 + …. + 20  vdf; nfhLf;fg;gl;Ls;sJ. gpd;tUtdtw;wpy; 
vJ cz;ik? 
a. B MdJ A-I tpl 1 mjpfk;   b. B MdJ A-I tpl 264 mjpfk; 
c. A kw;Wk; B rkk;     d. A MdJ B-I tpl 1 mjpfk; 
e. tpil njhpatpy;iy 
 

36. How many two digit numbers are divisible by 13? 
a. 6  b. 7  c. 8  d. 9  e. Answer not known 
13 My; tFgLk; <hpyf;f vz;fspd; vz;zpf;ifiaf; fhz;f. 
a. 6  b. 7  c. 8  d. 9  e. tpil njhpatpy;iy 
 

37. If a clock strikes once at 1’o Clock twice at 2’o clock thrice at 3’o clock and so on, how 
many times will it strike in a day 
a. 78  b. 156  c. 234  d. 312  e. Answer not known 
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xU fbfhuk; xU kzpf;F xU Kiw> 2 kzpf;F ,U Kiw> 3 kzpf;F %d;W Kiw 
vd;wthW njhlh;e;J rhpahf xt;nthU kzpf;Fk; xyp vOg;Gk; vdpy;> xU ehspy; 
mf;fbfhuk; vj;jid Kiw xyp vOg;Gk;? 
a. 78  b. 156  c. 234  d. 312  e. tpil njhpatpy;iy 
 

38. 5 1 4 7 3 9 8 5 7 2 6 3 1 5 8 6 3 8 5 2 2 4 3 4 9 6 
How many odd numbers are there in the sequence which are immediately followed by 
an odd number? 
a. 1  b. 2  c. 3  d. More than 4 e. Answer not known 
5 1 4 7 3 9 8 5 7 2 6 3 1 5 8 6 3 8 5 2 2 4 3 4 9 6 
,j;njhlh; thpirapy; xU xw;iw vz;izj; njhlUk; vj;jid xw;iw vz;fs; cs;sd? 
a. 1  b. 2  c. 3  d. 4f;F Nky;  e. tpil njhpatpy;iy 
 

39. The house of a street are numbered from 1 to 49. Senthil’s house is numbered such that 
the sum of numbers of the house prior to Senthil’s house is equal to the sum of numbers 
of the houses following Senthil’s house. Find Senthil’s  house number? 
a. 35  b. 25  c. 30  d. 20  e. Answer not known 
xU njUtpy; cs;s tPLfSf;F 1 Kjy; 49 tiu njhlh;r;rpahf fjtpyf;fk; 
toq;fg;gl;Ls;sJ. nre;jpypd; tPl;bw;F Kd;djhf cs;s tPLfspd; fjtpyf;fq;fspd; 
$l;Lj;njhifahdJ nre;jpypd; tPl;bw;Fg; gpd;jhf cs;s tPLfspd; fjtpyf;fq;fspd; 
$l;Lj; njhiff;Fr; rkk; vdpy; nre;jpypd; tPl;L fjtpyf;fj;ijf; fhz;f. 
a. 35  b. 25  c. 30  d. 20  e. tpil njhpatpy;iy 
 

40. A person saved money every year, half as much as he could in the previous year. If he 
had totally saved Rs. 7,875 in 6 years then how much did he save in the first year? 
a. Rs. 3,800   b. Rs. 3,725   c. Rs. 4,000 

d. Rs. 4,200   e. Answer not known 
xU egh; xt;Nthh; Mz;Lk; mjw;F Ke;ija Mz;L Nrkpj;j njhifapy; ghjpiar; 
Nrkpf;fpwhh;. 6 Mz;Lfspy; mth; &. 7875 I Nrkpf;fpwhh; vdpy;> Kjy; Mz;by; mth; 
Nrkpj;j njhif vt;tsT? 
a. Rs. 3,800   b. Rs. 3,725   c. Rs. 4,000 

d. Rs. 4,200   e. tpil njhpatpy;iy 
 

41. If A is an event of a random experiment such that P(A) : P(A̅) = 17 : 15 and n(s) = 640. 
Then find n(A). 
a. 320  b. 340  c. 305  d. 310  e. Answer not known 
xU rktha;g;G Nrhjidapy; A vd;w xU epfo;r;rpapy; P(A) : P(A̅) = 17 : 15 kw;Wk; 
vd;wthW nfhLf;fg;gl;Ls;sJ vdpy; n(A) fhz;f. 
a. 320  b. 340  c. 305  d. 310  e. tpil njhpatpy;iy  
 

42. A and B together can complete a piece of work in 4 days. If A alone can complete the 
same work in 12 days in how many days can B alone complete that work? 
a. 4 days   b. 5 days   c. 6 days 

d. 7 days   e. Answer not known 
A-Ak;> B-Ak; Nrh;e;J xU Ntiyia 4 ehl;fspy; Kbg;gh;. A kl;Lk; jdpahf 
mt;Ntiyia 12 ehl;fspy; Kbg;ghh; vdpy; B kl;Lk; jdpahf mt;Ntiyia vj;jid 
ehl;fspy; Kbg;ghh;? 
a. 4 ehl;fs;   b. 5 ehl;fs;   c. 6 ehl;fs; 
d. 7 ehl;fs;   e. tpil njhpatpy;iy 
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43. X, Y and Z can do a piece of job in 4, 6 and 10 days respectively. If X, Y and Z work 
together to complete, then they are paid Rs. 31,000 on the whole. Then find the separate 
shares of X, Y and Z? 
a. 6,000 ; 10,000 ; 15,000    b. 10,000 ; 6,000 ; 15,000  
c. 10,000 ; 15,000 ; 6,000    d. 15,000 ; 10,000 ; 6,000 
e. Answer not known 
X, Y kw;Wk; Z MfpNahh; xU Ntiyia KiwNa kw;Wk; ehl;fspy; 4> 6 kw;Wk; 10 
ehl;fspy; Kbg;gh;. %tUk; xd;W Nrh;e;J me;j Ntiyia Kbj;jhy; mth;fSf;F &. 
31>000 toq;fg;gLk; vdpy; X, Y kw;Wk; Z jdpj;jdpNag; ngWk; gq;Ffs; fhz;f? 
a. 6,000 ; 10,000 ; 15,000    b. 10,000 ; 6,000 ; 15,000  
c. 10,000 ; 15,000 ; 6,000    d. 15,000 ; 10,000 ; 6,000 
e. tpil njhpatpy;iy 
 

44. The volume of container is 1440 m3. The length and breadth of the container are 15 m 
and 8 m respectively. Find its height. 
a. 23 m b. 7 m  c. 12 m d. 40 m e. Answer not known 
xU ghj;jpuj;jpd; fdmsT 14440 kP3. mg;ghj;jpuj;jpd; ePsk; kw;Wk; mfyk; KiwNa 15 kP 
kw;Wk; 8 kP vdpy; mjd; cauj;ijf; fhz;. 
a. 23 kP b. 7 kP c. 12 kP d. 40 kP  e. tpil njhpatpy;iy 
 

45. If the base area of a hemispherical solid is1386 sq.meters, then find its total surface area? 
a. 1386 m2   b. 4158 m2   c. 2772 m2 
d. 5544 m2   e. Answer not known 
xU jpz;k miuf;Nfhsj;jpd; mbg;gug;G 1386 rJu kPl;lh; vdpy;> mjd; nkhj;jg; 
Gwg;gug;igf; fhz;f. 
a. 1386 r.kP   b. 4158 r.kP   c. 2772 r.kP 
d. 5544 r.kP   e. tpil njhpatpy;iy 
 

46. In a single throw of a die, what is the probability of getting a prime number? 

a. 1  b. 
1

2
   c. 

2

3
  d. 0  e. Answer not known 

xU gfil cUl;lg;gLk; nghOJ gfilapd; Kf vz;. gfh vz;zhf ,Uf;f epfo;jfT 
ahJ? 

a. 1  b. 
1

2
   c. 

2

3
  d. 0  e. tpil njhpatpy;iy  

 
47. The difference between simple interest and compound interest for a sum of Rs. 10,000 

lent at 8% P.A. in 2 years. 
a. Rs. 64 b. Rs. 68 c. Rs. 70 d. Rs. 72 e. Answer not known 
&. 10>000f;F 8% Mz;L tl;b tPjk; vdpy;> ,uz;L Mz;Lfspy; fpilf;Fk; $l;L 
tl;bf;Fk; jdptl;bf;Fk; cs;s tpj;jpahrk; 
a. Rs. 64 b. Rs. 68 c. Rs. 70 d. Rs. 72 e. tpil njhpatpy;iy 
  

48. A sum of 48,000 was lent out at simple interest and at the end of 2 years and 3 months 
that total amount was Rs. 55,560. Find the rate of interest per year. 
a. 5%  b. 6%  c. 7%  d. 8%  e. Answer not known 
fldhf toq;fg;gl;l mry; &. 48>000f;F 2 Mz;Lfs; 3 khjf; fhyj;jpw;Fg; gpd; 
jdptl;b %yk; ngwg;gl;l nkhj;jj; njhif &. 55>560 Mf ,Ue;jJ vdpy;> tl;b 
tPjj;ij fhz;f. 
a. 5%  b. 6%  c. 7%  d. 8%  e. tpil njhpatpy;iy 
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49. In an ordinary year find the simple interest on Rs. 900 for 73 days at 8% p.a. 
a. Rs. 14.40   b. Rs. 15.50   c. Rs. 15.40 
d. Rs. 14.50   e. Answer not known  
xU rhjhuz Mz;Lf;F 8% tl;b tPjj;jpy; &.900-f;F 73 ehl;fSf;F fpilf;Fk; 
jdptl;b fhz;f. 
a. Rs. 14.40   b. Rs. 15.50   c. Rs. 15.40 
d. Rs. 14.50   e. tpil njhpatpy;iy 
 

50. The Car that I own can go 150 km with 25 litres of petrol. Then the number of 
kilometers it can go with 30 litres of petrol is 
a. 160 km   b. 180 km   c. 200 km 
d. 210 km   e. Answer not known 
vdJ kfpOe;jpy; 25 ypl;lh; ngl;Nuhy; nfhz;L 150 fp.kP Nghf KbAk; vdpy; 30 ypl;lh; 
ngl;Nuhypy; gazpf;fg;gLk; J}uk;. 
a. 160 fp.kP   b. 180 fp.kP   c. 200 fp.kP 
d. 210 fp.kP   e. tpil njhpatpy;iy 

 

51. If 
15 18

25 5

x

y
= =  then the value of x and y is  

a. 3, 30  b. 3,35  c. 5,30  d. 5, 35 e. Answer not known 

15 18

25 5

x

y
= =  vdpy;; x kw;Wk; y – d; kjpg;Gfs; 

a. 3, 30  b. 3,35  c. 5,30  d. 5, 35 e. tpil njhpatpy;iy 
 

52. The LCM of ( 5x-10), ( 5x2 – 20) is  
a. 5(x+2) ( x-2)   b. 25(x+2)(x-2)  c. 25( x-2)2 (x+2) 
d. 5(x-2)2 (x+2)   e. Answer not known 
( 5x-10), ( 5x2 – 20) ,tw;wpd; kP.ngh.k. 
a. 5(x+2) ( x-2)   b. 25(x+2)(x-2)  c. 25( x-2)2 (x+2) 
d. 5(x-2)2 (x+2)   e. tpil njhpatpy;iy 
 

53. The LCM of ( x4-1), ( x2-2x+1) is  
a. (x-1)(x+1)( x2+1)   b. (x2+1) (x+1) (x-1)2  c. (x2+1)(x-1)3(x+1) 
d. (x2+1) (x-1)    e. Answer not known 
( x4-1), ( x2-2x+1) ,tw;wpd; kP.ngh.k 
a. (x-1)(x+1)( x2+1)   b. (x2+1) (x+1) (x-1)2  c. (x2+1)(x-1)3(x+1) 
d. (x2+1) (x-1)    e. tpil njhpatpy;iy 
 

54. Find out the HCF of 11, 0.121 and 0.1331 
a. 11  b. 0.11  c. 0.011  d. 0.0011 e. Answer not known 
11, 0.121 kw;Wk;  0.1331-d; kP.ngh.t. fhz;f. 
a. 11  b. 0.11  c. 0.011  d. 0.0011  e. tpil njhpatpy;iy 
 

55. Find the HCF of the polynomials x3+ x2-x+2 and 2 x3-5 x2+5x – 3. 
a. x+2     b. 2(x3+ x2-x+2)  c. -7( x2 – x+1) 
d. x2 – x+ 1   e. Answer not known 
x3+ x2-x+2 kw;Wk;  2 x3-5 x2+5x – 3 Mfpa gy;YWg;Gf; Nfhitfspd; kP.ngh.t.fhz;f. 

a. x+2     b. 2(x3+ x2-x+2)  c. -7( x2 – x+1) 
d. x2 – x+ 1   e. tpil njhpatpy;iy 
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56. Express the following into percentage: 200 ml in 2 litres 

a. 10%   b. 2%  c. 20 % d. 100%  e. Answer not known 
rjtPjj;jpy; khw;Wf: 2 ypl;lhpy; 200 kp.yp. 
a. 10%   b. 2%  c. 20 % d. 100% e. tpil njhpatpy;iy 
 

57. If 
x

y
= 

6

5
, find the value of 

2 2

2 2

x y

x y

+

−
 

a. 
61

25
   b. 

25

11
  c. 

61

11
  d. 

36

25
  e. Answer not known 

x

y
= 

6

5
 vdpy; 

2 2

2 2

x y

x y

+

−
d; kjpg;G fhz;f. 

a. 
61

25
   b. 

25

11
  c. 

61

11
  d. 

36

25
  e. tpil njhpatpy;iy 

 
58. Mental inertia and dogmatism are the harmful disadvantages of  

a. Generalization   b. Scientific method  c. Inductive thinking 
d. Empirical thinking  e. Answer not known 
kd epiykk;> jd;Kidg;G - ,itapuz;Lk; _____________ d; jPq;F tpistpf;Fk; 
FiwghLfs;.  
a. nghJikg;gLj;Jjy;  b. mwptpay; Kiw  c. J}z;ly; rpe;jid 
d. mDgt rpe;jid   e. tpil njhpatpy;iy 
 

59. Let the boiling temperature of water in a pressure cooker be T. Then  

a. T= 80 C     b. T= 90 C   c. T= 100 C 

d. T> 100 C    e. Answer not known 
mOj;jr; rikg;ghdpy; ePhpd; nfhjpepiy ntg;gepiy T vd;f. mg;NghJ>  

a. T= 80 C     b. T= 90 C   c. T= 100 C 

d. T> 100 C     e. tpil njhpatpy;iy 
 

60. The Zig – Zag movement of colloidal particles of cytoplasmic matrix is called 
a. Streaming Movement  b. Amoeboid movement c. Brownian movement 

d. None of the above  e. Answer not known 
irl;Nlhgpshrj;jpd; $o;epiyg;nghUs; tise;J tise;J nry;Yk; efh;tpd; ngah; 
a. ];Bhpkpq; efh;T   b. mkPgha;L efh;T  c. g;nuszpad; efh;T 

d. ,it vJTk; ,y;iy.  e. tpil njhpatpy;iy 
 

61. Assertion:    A refrigerator transfers heat from lower temperature to higher temperature 
Reason:     Normally heat cannot be transferred from lower temperature to higher 
  temperature without doing any external work. 
a. Both Assertion and reason are true and reason is the correct explanation of assertion. 
b. Both assertion and reason are true but the reason is not the correct explanation of 
the assertion 
c. Assertion is true but the reason is false 
d. Assertion is false but the reason is true 
e. Answer not known 
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$w;W:  xU Fsph;rhjd ngl;b> Fiwthd ntg;gepiyapypUe;J mjpfg;gbahd 
    ntg;g epiyf;F ntg;gj;ij flj;JfpwJ. 

fhuzk;: ve;j xU Gw NtiyAk; nra;ahky; rhjhuzkhf ntg;gk; Fiwe;j 
   ntg;gepiyapypUe;J mjpfg;gbahd ntg;g epiyf;F ntg;gj;ij 
   flj;JfpwJ. 
a.  $w;W rhp fhuzk; rhp. fhuzk; $w;wpw;fhd rhpahd tpsf;fk; 
b. $w;W kw;Wk; fhuzk; rhp Mdhy; fhuzk; $w;wpw;fhd rhpahd tpsf;fky;y 
c. $w;W rhp Mdhy; fhuzk; jtW 
d. $w;W jtW Mdhy; fhuzk; rhp 
e. tpil njhpatpy;iy 
 

62. Life is a physico chemical entity which exhibits 
a. Reproduction   b. Irritability   c. Locomotion 
d. All the above   e. Answer not known 
caph; xU ,aw;gpay; - Ntjpapay; njhFg;G. ,t;Taphp nfhLf;fg;gl;litfspy; vij 
ntspg;gLj;JfpwJ? 
a. ,dg;ngUf;fk;   b. cWj;Jzh;r;rp  c. ,lg;ngah;r;rp 
d. ,it midj;Jk;   e. tpil njhpatpy;iy. 
 

63. Food cooks faster in a pressure cooker than in an ordinary pot with a loose lid because 
the higher pressure. 
a. forces heat into the food more rapidly     b. lowers the boiling point of water 
c. Raises the boiling point of water   d. Increases the specific heat capacity of water 
e. Answer not known 
jsh;thd %bAila rhjhuzg; ghidapy; czT rikg;gij tpl mOj;jr; 
rikaw;fydpy; tpiuthf rikf;fg;gLfpwJ Vnddpy; mjpf mOj;jk; 
a. cztpd; kPJ ntg;gj;ij tpiuthfr; nrYj;Jk; 
b. ePhpd; nfhjpepiyiaf; Fiwf;Fk; 
c. ePhpd; nfhjpepiyia mjpfhpf;Fk; 
d. ePhpd; jd; ntg;g Vw;Gj;jpwid mjpfhpf;Fk; 
e. tpil njhpatpy;iy 
 

64. The control and co- ordination of our body is under the control of ____________ system. 
a. Circulatory system b. Reproductive system   c. Digestive system 
d. Nervous system  e. Answer not known 
ek; clypd; xUq;fpize;j nray;ghl;Lf;Fk;> fl;Lg;ghl;bw;Fk; fhuzkhd kz;lyk;  
a. ,uj;j Xl;l kz;lyk; b. ,dg;ngUf;f kz;lyk;  c. rPuz kz;lyk;  
d. euk;G kz;lyk;  e. tpil njhpatpy;iy 
  

65. A perfectly black body is that which 
a. is totally black in colour  b. can radiate all its energy 
c. is made of ideal gas  d. absorbs all the radiations incident on it 
e. Answer not known 
xU KOikahd fUk;nghUs; vd;gJ 
a. KOtJk; fUg;G epwj;jpyhdJ   
b. mjd; midj;J Mw;wiyAk; fjph;tPr;R Kiwapy; ntspapLk; 
c. yl;rpa thAthy; MdJ 
d. mjd;Nky;gLk; midj;J fjph;tPr;Rf;fisAk; fpufpj;Jf; nfhs;Sk; 
e. tpil njhpatpy;iy 
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66. _________    is the second largest State in India on account of its size. 
a. Tamil Nadu  b. Uttar Pradesh  c. West Bengal 
d. Madhya Pradesh  e. Answer not known 
_________  gug;gstpy; ,uz;lhtJ nghpa ,e;jpa khepykhFk;. 
a. jkpo;ehL   b. cj;jpug;gpuNjrk;  c. Nkw;F tq;fhsk; 
d. kj;jpag; gpuNjrk;  e. tpil njhpatpy;iy 
 

67. The place where ISRO successfully tested the first human carrying rocket engine Vikas 
(Gaganyan -human space mission) is 
a. Mahendragiri – TN  b. Kalpakkam – TN  c. Koodangulam – TN 
d. Narimanam – TN   e. Answer not known 
kdpjid Vw;wpr; nry;Yk; Kjy; uhf;nfl; tpfh]; ,d;[pid ,];Nuh ntw;wpfukhfr; 
Nrhjpj;j ,lk; (Rfd;ahd; kdpj tpz;ntspg; gaz jpl;lk;) _________    MFk;. 
a. kNfe;jpufphp – jkpo;ehL  b. fy;ghf;fk; - jkpo;ehL 
c. $lq;Fsk; - jkpo;ehL  d. ehpkzk; - jkpo;ehL 
e. tpil njhpatpy;iy.  
 

68. The Ecological conservation strategy “Meendum Manjappai” Scheme was introduced 
by the Chief Minister M.K.Stalin on  
a. 15th December 2021  b. 20th December 2021 c.25th December 2021 
d. 23rd December 2021  e. Answer not known 
Rw;Wr;#oy; ghJfhg;G topKiwf;fhd “kPz;Lk; kQ;rg;ig” jpl;lk; Kjyikr;rh; 
K.f.];lhypd; mth;fshy; mwpKfg;gLj;jg;gl;l ehs; 
a. 15 brk;gh; 2021   b. 20 brk;gh; 2021  c. 25 brk;gh; 2021 
d. 23 brk;gh;  2021   e. tpil njhpatpy;iy 
 

69. Maximum punishment in Juvenile Justice Act. 
a. Imprisonment for life or upto 11 years and fine 
b. Imprisonment  upto 10 years or fine 
c. Imprisonment for life or upto 10 years and fine 
d. Imprisonment for life or upto 8 years and fine 
e. Answer not known 
rpwhh; ePjpr; rl;lj;jpy; mjpfgl;r jz;lid ahit? 
a. MAs; jz;lid my;yJ 11 Mz;Lfs; kw;Wk; mguhjk; 
b. 10 Mz;Lfs; tiu rpiw jz;lid my;yJ mguhjk; 
c. MAs;jz;lid my;yJ 10 Mz;Lfs; kw;Wk; mguhjk; 
d. MAs; jz;lid my;yJ 8 Mz;Lfs; kw;Wk; mguhjk; 
e. tpil njhpatpy;iy 
 

70. The capital of British India was shifted from Calcutta to Delhi in the year 
a. 1907 b. 1911  c. 1912  d. 1913 e. Answer not known 
fy;fj;jhtpypUe;J nly;ypia gphpl;b~; ,e;jpahtpd; jiyefukhf khw;wg;gl;l Mz;L 
a. 1907 b. 1911  c. 1912  d. 1913 e. tpil njhpatpy;iy 
 

71. Which of the following is incorrectly paired? 
1. CACP - Commission for Agricultural Cost and Prices 
2. ICDS -Integrated Child Development Services. 
3. NFSA -National Food Security Association 
4. MDM - Mid Day Mission 
a. 1 and 2 only   b. 1 and 3 only  c. 2 and 3 only 
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d. 3 and 4 only   e. Answer not known 
gpd;tUtdtw;wpy; vJ jtwhf ,izf;fg;gl;Ls;sJ? 
1. CACP - tptrha nryT kw;Wk; tpiy FO  
2. ICDS - xUq;fpize;j Foe;ij Nkk;ghl;L Nritfs; 
3. NFSA - Njrpa czT ghJfhg;G rq;fk; 
4. MDM - kjpa ehs; gzp 
a. 1 kw;Wk; 2 kl;Lk;   b. 1 kw;Wk; 3 kl;Lk;  c. 2 kw;Wk; 3 kl;Lk; 
d. 3 kw;Wk; 4 kl;Lk;   e. tpil njhpatpy;iy 
 

72. The start-ups under the “Big Privatization Push” after the waves of Covid 19 Pandemic 
are called 
a. Small units    b. Unicorns   c. Private Players 
d. Infant firms   e. Answer not known 
Covid 19 gutYf;Fg; gpwF “nghpa jdpahh;kakhf;fy; ce;Jjy;” cUthfpa 
njhopw;rhiyfspd; ngah; 
a. rpWnjhopy; epWtdk;  b. A+dpfhh;d;  c. jdpahh; njhopyhsh; 
d. Foe;ij epWtdk;  e. tpil njhpatpy;iy 
 

73. The period which witnessed rapid urbanization in India is  
a. 1901-1931    b. 1931-1961   c. After 1961 
d. Before 1901   e. Answer not known 
,e;jpahtpy; efukakhf;fy; Jhpjkhf fhzg;gl;l fhyk; 
a. 1901-1931    b. 1931-1961   c.1961 f;F gpwF 
d. 1901-f;F Kd;G   e. tpil njhpatpy;iy 
 

74. Which crop requires maximum water for cultivation? 
a. Barley    b. Maize   c. Sugarcane 

d. Wheat    e. Answer not known 
Ntshz; eltbf;iffSf;F mjpf mstpy; ePh; Njitg;gLk; xU gaph; 
a. ghh;yp    b. kf;fhr;Nrhsk;   c. fUk;G 
d. NfhJik    e. tpil njhpatpy;iy 
 

75. It is a species of the broad leaved forests 
a. Deodar    b. Fir    c. Spruce  
d. Rosewood    e. Answer not known 
gue;j ,iyf; fhLfspd; ,dq;fspy; tUtJ 
a. bNahlh;    b. /gph;   c. ];G&]; 
d. Nuh];Tl;    e. tpilnjhpatpy;iy 
 

76. Which of the following rivers is known as the “Ganges of South India”? 
a. Kauvery    b. Krishna   c. Godavari 
d. Narmada    e. Answer not known 
fPNo nfhLf;fg;gl;Ls;s MWfspy; “njd; ,e;jpahtpd; fq;if” vd;W miof;fg;gLtJ 
vJ? 
a. fhNthp    b. fpU~;zh   c. Nfhjhthp 
d. eh;kij    e. tpil njhpatpy;iy  
 

77. Which winds provide heavy rainfall to the east part of Tamil Nadu? 
a. Westerlies winds   b. South – West winds c. North – East dry winds 
d. North – East cold winds  e. Answer not known 
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jkpo;ehl;bd; fpof;F gFjpfSf;F mjpf mstpyhd kiog; nghoptpid nfhLf;Fk; 
fhw;Wfs; vit? 
a. Nkw;fj;jpa fhw;Wfs;   b. njd;Nkw;F fhw;Wfs; 
c. tlfpof;F twz;l fhw;Wfs;  d. tlfpof;F Fsph;e;j fhw;Wfs; 
e. tpil njhpatpy;iy 
 

78. Shivaji maintained a Naval fleet at 
a. Salsettle    b. Kolaba   c. Bassein   
d. Kalyan    e. Answer not known 
rpth[p vq;F flw;gil jsj;ij epWtp ,Ue;jhh;? 
a. rhy;n~l;Ny   b. Nfhyhgh   c. Ng]Pd;  
d. fy;ahz;    e. tpil njhpatpy;iy 
 

79. Name the Sikh Guru who founded the holy city of Amritsar? 
a. Guru Govind   b. Guru Nanak  c. Guru Ram Das 
d. Guru Tegh Bahadur  e. Answer not known 
rPf;fpah;fspd; Gdpj jykhd mkph;jui] epWtpa rPf;fpa FUtpd; ngaiuf; Fwpg;gpLf. 
a. FU Nfhtpe;j;   b. FU ehdf;   c. FU uhk; jh]; 
d. FU Njf; gfJ}h;   e. tpil njhpatpy;iy 
 

80. During the Maratha rule, the revenue of the state came mainly from 
a. Land    b. Trade   c. Fine  
d. Transport    e. Answer not known 
kuhj;jpah; Ml;rpapy; ehl;bd; Kf;fpa tUtha; vjpypUe;J ngwg;gl;lJ? 
a. epyk;    b. tzpfk;   c. mguhjk; 

d. Nghf;Ftuj;J   e. tpil njhpatpy;iy 
81. Name the persian scholar who was chosen as Akbar’s tutor 

a. Abdul Latif   b. Abdul Salam  c. Abdul Samad 
d. Abdul Rahim   e. Answer not known 
mf;ghpd; Mrphpauhf Njh;T nra;ag;gl;l ghurPf mwpQhpd; ngah; 
a. mg;Jy; yj;jPg;   b. mg;Jy; ryhk;  c. mg;Jy; rkJ 
d. mg;Jy; u`Pk;   e. tpil njhpatpy;iy  
 

82. Name the author of Brihat Samhita: 
a. Varahamihira   b. Dandin   c. Buddha Gupta 
d. Amar Singh   e. Answer not known 
‘gphpfj; rk;`pjh’ vd;Dk; E}ypd; Mrphpah; 
a. tuhfkp`puh;   b. jz;bd;   c. Gj;j Fg;jh; 
d. mkh;rpq;     e. tpil njhpatpy;iy 
 

83. Assertion (A) : Zafar Khan the right wing commander of Ala-ud-din was killed by 
   Mangols 
Reason  (R) :Ulugh Khan, the left wing commander deserted him 
a. A is right R is wrong b. Both A and R are right 
c. A is wrong R is right d. Both A and R are right, R is the correct explanation of A 
e. Answer not known 
$w;W(A):  myhTjPdpd; tyJ rhhp jiyth; rhgh;fhd; kq;Nfhypah;fshy; nfhy;yg;gl;lhh;. 
fhuzk;(R): ,lJ rhhp jiytuhd cYf;fhd; mtiu iftpl;L tpl;lhh;. 
a. A rhp R jtW  b. A R ,uz;Lk; rhp  c. A jtW R rhp 
d. A  R ,uz;Lk; rhp R  A apd; rhpahd tpsf;fk; e. tpil njhpatpy;iy 
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84. Which of the following was the Port City of Indus Valley Civilisation? 

a. Lothal   b. Harappa   c. Kalibangan 
d. Larkana   e. Answer not known 
gpd;tUtdtw;Ws; rpe;J rkntsp ehfhpfj;jpd; JiwKf efuk; vJ? 
a. Nyhj;jy;   b. `ug;gh   c. fspgq;fd; 
d. yh;fhdh   e. tpil njhpatpy;iy 
 

85. Match the following: 
A. Aryabatta    1. Mathematician 
B. Nagarjuna    2. Jain Scholar 
C. Siddhar Sena   3. Buddhist Scholar 
D. Vira Sena Seva   4. Grammar Scholar 
 A B C D 
a. 4 1 3 2 
b. 1 3 2 4 
c.  1 2 3 4 
d. 4 3 2 1 
e.  Answer not known 
fPo;fz;ltw;iw nghUj;Jf. 
A. Mhpagl;lh  1. fzpj Nkij 
B. ehfh;[{dh   2. i[d Gyth; 
C. rpj;j Nrdh;  3. Gj;j Gyth; 
D. tPu Nrd Nrth  4. ,yf;fz Gyth; 

A B C D 
a. 4 1 3 2 
b. 1 3 2 4 
c.  1 2 3 4 
d. 4 3 2 1 
e.  tpil njhpatpy;iy 
 

86. Right to Information Act came into force on 
a. 22 June 2005   b. 12 October 2005   c. 15 June 2005 
d. 15 August 2005  e. Answer not known 
jfty; mwpAk; chpikr; rl;lk; eilKiwf;F te;j Mz;L. 
a. 22 [{d; 2005  b. 12 mf;Nlhgh; 2005 c. 15 [{d; 2005 
d. 15 Mf];l; 2005  e. tpil njhpatpy;iy 
 

87. Which of the following subject comes under the Central Government? 
a. Banking    b. Agriculture   c. Prison 
d. Public Health  e. Answer not known 
kj;jpa murhq;fj;jpd; fPo; tuf;$ba Jiwfs; vJ? 
a. tq;fpj;Jiw  b. tptrhak;   c. rpiwj;Jiw 
d. nghJ cly;eyd;  e. tpil njhpatpy;iy 
 

88. A Lok Sabha speaker addresses his / her resignation to whom among the following 
a. Deputy Speaker  b. President   c. Prime Minister 
d. Law Minister  e. Answer not known 
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fPo;f;fz;ltw;Ws; Nyhf;rgh rghehafh; jdJ uh[pdhkhit vthplk; mspg;ghh;?  
a. Jiz rghehafh;  b. FbauRj; jiyth; c. gpujkh; 
d. rl;l mikr;rh;   e. tpil njhpatpy;iy 
 

89. The RTI Act of 2005 has ________________ schedules 
a. 5 Schedules  b. 10 Schedules  c. 2 Schedules 

d. 8 Schedules  e. Answer not known 
2005 Mk; Mz;L jfty; ngWk; chpikr;rl;lk; _________ ml;ltizfs; nfhz;ljhFk;. 
a. 5 gFjpfs;   b. 10 gFjpfs;  c. 2 gFjpfs; 
d. 8 gFjpfs;   e. tpil njhpatpy;iy 
 

90. Match the following terms with their meanings: 
A. Adjournment Sine Die  1. Minimum number of members  
     required to be present in the House to transact  
     business 
B. Quorum    2. Last sitting of existing Lok Sabha, after a new Lok 

   Sabha has been elected 
C. Kangaroo closure   3. Terminating a sitting of Parliament for an indefinite 

  period 
D. Lame – Duck Session  4. Only important clauses are taken up for debate 

  A B C D 
 a. 3 1 2 4 
 b. 1 3 2 4 
 c. 3 1 4 2 
 d. 2 3 4 1 
 e.  Answer not known   
 fPo;f;fhzg;gLk; nrhw;fis mjd; mh;j;jj;Jld; nghUj;jTk;: 

A. xj;jp itg;G  1. mitia elj;j Njitahd cWg;gpdh; vz;zpf;if 
B. Fthuk;   2. GJ kf;fsit Njh;e;njLf;fg;gl;l gpwF filrpahd gioa 

  kf;fsit mkh;T 
C. fq;fhU %ly;   3. ghuhSkd;wj;ij fhytiuaw;W xj;jp itj;jy; 
D. Nyk;lf; mkh;T  4. Kf;fpakhd cl;$Wfis kl;Lk; tpthjpg;gJ 

A B C D 
 a. 3 1 2 4 
 b. 1 3 2 4 
 c. 3 1 4 2 
 d. 2 3 4 1 
 e.  tpil njhpatpy;iy  
                                                  

91. Right to Information Act, 2005 provided an effective frame work to ____________ article 
of the Indian Constitution. 
a. Article 9   b. Article 19    c. Article 29 
d. Article 30   e. Answer not known 
jfty; ngWk; chpikr; rl;lk; 2005 ,e;jpa murpayikg;gpd; __________ tpjpf;F xU 
rpwe;j fl;likg;ig toq;FfpwJ. 
a. tpjp 9   b. tpjp19    c. tpjp 29 
d. tpjp 30   e. tpil njhpatpy;iy 
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92. How often in a year, the Central Consumer Protection Council should meet? 
a. Once in a year  b. Twice in a year  c. As and when necessary 
d. Every month  e. Answer not known 
kj;jpa Efh;Nthh; ghJfhg;G FO $l;lk; tUlj;jpw;F vj;jid Kiw elj;jg;gl;l 
Ntz;Lk;? 
a. xU Kiw   b. ,uz;L Kiw  c. Njit Vw;gLk;Nghnjy;yhk; 
d. xt;nthU khjKk; e. tpil njhpatpy;iy 
 

93. Consider the following statements about the preamble. 
1. Jawaharlal Nehru called it as the “Identity Card of the Constitution”.  
2. It reveals the source of authority of the Constitution 
3. It reveals the nature of Indian State. 
4. It reveals the objectives of the Indian Constitution 
Which of the given statements is / are wrong? 
a. 1 and 2   b. 1 only   c. 2 only 
d. 3 and 4   e. Answer not known 
1. [t`h;yhy; NeU mth;fs; ,jid “murpay; rhrdj;jpd; milahs ml;il” vd;W 
$wpdhh;. 
2. ,J murpay; rhrdj;jpd; mjpfhuj;ij ntspg;gLj;JfpwJ 
3. ,e;jpa ehl;bd; jd;ikia ntspg;gLj;JfpwJ 
4. ,e;jpa murpay; rhrdj;jpd; nfhs;iffis ntspg;gLj;JfpwJ. 
NkNy fhzg;gLk; thf;fpaq;fspy; vJ/vit jtwhdit? 
a. 1 kw;Wk; 2   b. 1 kl;Lk;   c. 2 kl;Lk;   
d. 3 kw;Wk; 4   e. tpil njhpatpy;iy 
 

94. Who is the first Vice – chairman of NITI Aayog? 
a. Arvind Panagariya b. V.K. Saraswat  c. Rajnath Singh 
d. Arun Jaitely  e. Answer not known 
epjp MNahf;fpd; Kjy; Jizj; jiyth; ahh;? 
a. mutpe;j; gzfhhpah  b. V.K. ru];tj;  c. uh[;ehj; rpq; 
d. mUz; n[l;yp   e. tpil njhpatpy;iy 
 

95. Main functions of Reserve Bank of India is / are 
1. Bank of issue of Notes  2. Safety locker   
3. Letter of Credit   4. Banker’s Bank     
Select the correct answer by using the codes given below 
a. 1 and 4 are correct  b. 1 and 2 are correct c. 2 and 3 are correct 
d. 3 and 4 are correct  e. Answer not known 
,e;jpa hprh;t; tq;fpapd; Kf;fpa gzpfs; 
1. gzk; ntspapLjy; 2. ghJfhg;G ngl;lfk;  
3. fld; fbjk;  4. tq;fpfspd; tq;fp  
FwpaPLfs; %yk; rhpahd tpilia njhpT nra;f. 
a. 1 kw;Wk; 4 rhpahdit  b. 1 kw;Wk; 2rhpahdit  c. 2 kw;Wk;3 rhpahdit 
d. 3 kw;Wk; 4 rhpahdit     e.tpil njhpatpy;iy 
   

96. “By giving relief to states immediately, the debt burden of states will become moderate 
in future” is quoted by 
a. Dr. Manmohan Singh  b. Dr.C.Rangarajan  c. Dr. Srivastava 
d. T.R. Prasad   e. Answer not known 
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“khepyq;fSf;F cldbahf fld; epthuzk; toq;Ftjd; %yk;> khepyq;fspd; vjph;fhy 
fld; Rik kpjkhdjhf ,Uf;Fk;” ,J ahUila $w;W? 
a. Dr. kd;Nkhfd; rpq;  b. Dr.C. nuq;fuh[d;  c. Dr. =t];jth 
d. T.R. gpurhj;   e. tpil njhpatpy;iy 
 

97. Which one of the following is not an employment generation programme? 
a. Rural Employment Generation Programme ( REGP) 
b. Prime Minister’s Rozgar Yojana ( PMRY) 
c. National Food for Work Programme ( NFWP) 
d. Jandhan Yojana 
e. Answer not known 
gpd;tUtdtw;Ws; vJ Ntiytha;g;G cUthf;Fk; jpl;lk; ,y;iy? 
a. Cuf Ntiytha;g;Gj; jpl;lk; (REGP) 
b. gpujkh; Ntiytha;g;Gj; jpl;lk; (PMRY) 
c. Njrpa Ntiyf;F czTj; jpl;lk;( NFWP) 
d. [e;jd; jpl;lk; 
e. tpil njhpatpy;iy 
 

98. Which organization collects data on Poverty in India? 
a. Planning commission  b. NSSO- National Sample Survey Organisation 

c. CSO – Central Statistics Office d. Election Commission 
e. Answer not known 
,e;jpahtpy; tWik gw;wpa Gs;sp tptuq;fisj; jpul;Lk; epWtdk; vJ? 
a. jpl;lf;FO      
b. NSSO (Njrpa khjphp Ma;T mYtyfk;) 
c. CSO- (kj;jpa Gs;spapay; mYtyfk;) 
d. Njh;jy; Mizak; 
e. tpil njhpatpy;iy 
 

99. Identify the sectors of the Indian Economy which are the most affected the Covid 
Pandemic 
1. MSME Sector    2. Aviation Sector   
3. Tourism and hospitality Sector  4. Telecommunication sector 
a. 3 and 4 only    b. 1 and 2 only  c. 1 and 4 only 
d. 1,2 and 3 only    e. Answer not known 
Nfhtpl; njhw;Wf; fhyj;jpy; ,e;jpag; nghUshjhuj;jpy; kpFjpahf ghjpf;fg;gl;l Jiwfs; 
milahsk; fhz;f. 
1. MSME Jiw    2. tpkhdj;Jiw 
3. Rw;Wyh kw;Wk; tpUe;Njhk;gy; Jiw 4. njhiyj; njhlh;Gj; Jiw 
a. 3 kw;Wk; 4 kl;Lk;    b. 1 kw;Wk; 2 kl;Lk;  c.1 kw;Wk; 4 kl;Lk; 
d. 1> 2 kw;Wk; 3 kl;Lk;   e. tpil njhpatpy;iy 

 
100. Which of the following is / are not part of the agricultural price policy? 
 1. To improve technology for higher production 
 2. To help the distribution of land 
 3. To fix the procurement prices 
 4. To manage public distribution system 
 Select the correct answers by using the codes given below: 
 a. 1 only   b. 2 only   c. 1, 2 and 3  
 d. 1,3 and 4    e. Answer not known 
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 fPo; Fwpg;gpl;ljpy; vJ Ntshz; tpiyf; nfhs;ifapd; Kf;fpa Nehf;fq;fspy; 
 Fwpg;gplhjJ? 
 1. mjpf cw;gj;jpf;F njhopy; El;gj;ij cah;j;JtJ 
 2. epyg; gfph;Tf;F cjTtJ 
 3. nfhs;Kjy; tpiyia eph;zak; nra;jy; 
 4. nghJg; gfph;T Kiwia Nkyhz;ik nra;jy; 
 FwpaPLfs; %yk; rhpahd tpil fhz;f 
 a. 1 kl;Lk;   b. 2 kl;Lk;   c. 1> 2 kw;Wk; 3 
 d. 1> 3 kw;Wk; 4  e. tpil njhpatpy;iy 
 
 


